IB Math HL2 Euler's Method:

Vou =Y, +hx f(x,,y,) and x,,, =x, +h where h is a step size.

Example) Consider the differential Equation %Jr% —1, where || <1 and y(0)=1.
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a) Use Euler’s method withto find an approximate value of y when x=1. Give the final answer to
3 significant figures.
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b) Solve algebraically and compare the answer with the answer (a).
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IB Math HL2 : Differentiability Name:
Example 1) /

Given f(x)=2x+ |x‘

a) Prove that fis continuous but not differentiable at the (0, 0)
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b) Determine the value of I f(x)dx where a>0.

Example 2)

sin(x—1)+ex x<1

-x+d x>1

1. Given f(x)= {

Find constants ¢,d € R . So that the function is differentiable for all x.
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Second Fundamental Theorem:
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Given F(x)zj:costdt 9 S_MX

a) Predict the function of F(x). And then validate your prediction.
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b) Predict %[F(x)] cos tdt . And then validate your prediction.
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Example 1) Using the second fundamental theorem, Evaluate E[' 311'“ +.1dr:| :w X z + ‘ }
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Example 2) Find the derivative of F(x)=| | (cost)dt
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